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a8 Cains matched to the comrect boxes as shown:

im

All four coins must be matched cormectly
for the award of the mark.

Accepl any olher clear way of indicating
the corract answer.

Do not award the mark if a coin
Is matchad to both boxes.
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Both inequalities completed comectly, using
each of the given numbers once only, i.e.

14 = 0

61 > 50

OR

&1 > 0

OR

&1 > 50

14 = 0

OR

61 > 14

im

Both inequalities must be correct for the
award of the mark.

Do not award the mark if any number is
used more than once, e.g.

14 > 0

50 > 14

Do not award the mark if numbers not
given in the question are used.

(Refer to general marking principles
10 and 11 on pages 7 and 8.)




